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−0.5w ≤ x ≤ 0.5w

0 otherwise
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If we make w smaller, the pulse height increases to preserve unit area.

We define the Dirac delta function as δ(x) = limw→0 dw(x)

• δ(x) equals zero everywhere except at x = 0 where it is infinite.
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If we make w smaller, the pulse height increases to preserve unit area.

We define the Dirac delta function as δ(x) = limw→0 dw(x)
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• We plot the height of δ(x) as its area rather than its true height of ∞.
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If we make w smaller, the pulse height increases to preserve unit area.

We define the Dirac delta function as δ(x) = limw→0 dw(x)

• δ(x) equals zero everywhere except at x = 0 where it is infinite.
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δ(x) is not quite a proper function: it is called a generalized function.
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Uniquely, the Fourier Transform of a Gaussian pulse is a Gaussian pulse.
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For further details see RHB Chapter 13.1 (uses ω instead of f )
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